M

M ASSEMBLY DIAGRAM: INCLUDED:

Popular Products for Home

1 Bead Breaker Spade Mount ary PART
2 Bead Breaker Arm 1 Bottom base ring
3 Bead Breaker Spade 1 Tire changer base bar
1 Top ring
4 Rim Protectors
. 1 Bead breaker arm
5 TopRing
6 Ring Support Plates 1 Bead breaker spade mount
W | .l- H 7 Axle Stand 1 Bead breaker spade
1 Axle stud
8 Leverage Pin 4 Ring support plates
9 Tire Hanger Base Bar X
4 Rim protectors
C30-008 10 Bottom Base Ring 2 Axle stud nuts M14
3 M10 Allen head bolts
ASSEMBLY INSTRUCTIONS: 2 M8 x 60
2 M8 lock nuts
1. Using 4 M6 bolts and 4 nuts with washers on both sides for each ring support 16 M6 bolts
plate, connect the bottom base ring with the top ring with the 4 ring support plates. 16 M6 nuts
16 M6 washers

2. Using the 3 M10 Allen head bolts attach the tire changer base bar to the bottom
base ring.

3. Attach the axle stud to the tire changer base bar using the 2 nuts top and bottom
of tire changer base bar.

4.  Attach the bead breaker spade mount to the bead breaker arm. You will be able to
adjust the spade for the size of wheel.

5. Mount the bead breaker arm to the tire changer base bar.

6.  Snap on the 4 rim protectors 90° from each other on the top ring.




